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f(x)=sin(x), f(x)=2x"+3x+5, f(x):L
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7401x, + 0.689x, + 5398x5 + 0412x, + 9.601xs = 0.621

1452x, +1510x, + 3.744x; + 4.663x, + 2.603x5 = —1352
9.602x; +5011x, + 8812x; + 7.988x, + 7.698x5 = —1.658
2119x, + 1.061x, + 9.579x; + 8418x, + 0.099x5 = —0.049
2.058x; +1579x, + 8.049x; + 8151x, +2.898x5 =—-0229
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void gaussj(float **a, int n, float **b, int m)

Linear equation solution by Gauss-Jordan elimination, equation (2.1.1) above.
a[l...n][1..:n] is the input matrix. b[1..:n][1..:m]is input containing the m right-hand
side vectors. On output, a is replaced by its matrix inverse, and b is replaced by the
corresponding set of solution vectors.
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